ECAD

3¢3W 200V

500 160
________ E— MCB
= 3P 250AF/250AT
0
1
MCB MCB-1 MCB-2
I I
- 3P 30AF/30AT | 3P 30AF/30AT
I A
"::’: i 1: MCB-3 MCB-4
I I
S :==4 3P 30AF/30AT 3P 30AF/30AT
= | o] |
i ”: MCB-5 MCB-6
i } 3P 30AF/30AT 3P 30AF/30AT
I A
1= MCB-7 MCB-8
U |
1 3P 30AF/30AT 3P 30AF/30AT
MCB-9 MCB-10
r==1
im | ¢ —_ 3P 30AF/30AT 3P 30AF/30AT
ET M8 MCB-11 MCB-12
3P 30AF/30AT 3P 30AF/30AT
MCB-13 MCB- 14
3P 30AF/30AT 3P 30AF/30AT
No. | H3SHES = EAE i A—=N—- | @&
1 [ MCB-1~MCB- 14| BCIRFREHRS 3P 30AF/30AT B-33KC FUIt= 14
2 MCB| BCiRFREHTES 3P 250AF/250AT B-253EA FUI= |
TrERY MR BB (B
EASEET F %
RIRE = AF-L t1.2 J\URNIL | FEN\UNIL AR | B | 89 | ®mEt am =% 9:?
B [ AF-b t1.2 2011/4/1 1,10
PCB2SK 14 Zort-1 [ CC1350-16 YN\E FIUR-MEFERXRL |2Pc25K14 [1/71]




